(3) {EEHOLB =R LATIER R (BEGR])

(ks - 1 nd, Z8E : %)

P w P ea % H
NEAT | K2 HE Wb 2% B | ARE R B YE H o pr (& Hb 2 FNAAEN 7R AR BFISELA RS | BB
M,/ n M i %

1 [KEHE—338 TIELR AKEHTAHE4THL 9%S 50, 200 60, 700 20.9

2 |2 <IEA B — 4 [F IR SOLNEH L WK,y T2 TH14%6 68, 400 76, 600 12. 0]

3 |i&L—16 THE IR T EE3THOELI89 360, 000 400, 000 11.1
(3 —27—91

4 [H#%Z—15 TR WZHmmN3TH28%124 239, 000 265, 000 10.9
FEm3—19—21

5 |iH#&— 2 TIELR WEMIER3ITHS8 S5 1%&2 359, 000 398, 000 10.9
Fdks3—8—81

6 |HZ%—4 THELR WEMIER3ITH99I6%E?2 361, 000 400, 000 10.8
k3 —36—91]

7 |Frk—1 4 RN [FrmhiET2TH2710%4 260, 000 288, 000 10.8
MeEff2—7-—61

8 |H#&—5 TIELR WETIT1THE1527%2 273, 000 302, 000 10. 6]
MEir1—14—211J

9 |H%E—10 TFHE IR WETAS)IN1ITHL6%E4 2 275, 000 304, 000 10.5
I41—11-—51

10 |ili%—1 TIELR WETMES TH3 1 9%&7 306, 000 338, 000 10.5
MiEs—7—22]

(flif%s - M, m, E#=E %)
PN 53 5] ea £ H
NEAT | HZ 4 Wb 2% B | ARE R B YE H o pr (& Hb 2 FNAAEN 7R AR BFISELA RS | BB
M,/ n M i %

1 |BER—53 RRIR HEMEAFERITITH2137%65 290, 000 320, 000 10.3
[RAKFERIT1I—-7—-20]

2 [EE—-21 AEI FEETNRERT S TH7 7%2 207, 000 224, 000 8.2
FHkERTS —3 —2 6]

3 [Hm—10 KB F EHTSE4ATHLIEL 2 171, 000 185, 000 8.2
5Ea4—17—201

4 |EEER—13 |5EFF AT BRI/ NIEE 5 F2/0IT2 0 6 & 1 574, 000 617, 000 7.5

5 | KBkt —7 PNV KR mE 3 THL 3%2 1, 080, 000 1, 160, 000 7.4
MEE3—1—551

6 |Hdb—21 PNV BT XKESEAI308 0% 1 2 278, 000 298, 000 7.2

7 [BdE—9 PNV P AL X &M 2 T 5% 9 220, 000 235, 000 6.8
FHr&fmr2 —5—2 5]

8 |MFE—16 RS AT SE T2 TH2 0% 300, 000 319, 000 6.3
FSiETH 2 —3—51

9 |HHESHF R —5 AR TRESTR R XA ERT 3 3% 1 3 277, 000 294, 000 6.1

10 | —2 THBF TERT PRI AREIERET 7 & 1 14+ 278, 000 295, 000 6.1




(ks - 1 nd, Z8E : %)

4 &R P& ¥ ES o
NEAT | BE % Wi & 5 | BEFIE = YE H o pr (& Hb 2 FNAAEN 7R AR BFISFELA RN | BB
M,/ n M i %
1 |AEEE—-S = LEERTHERTITHS 0 2% 1, 100, 000 1, 300, 000 18.2
[R1—-5—26]
2 |&EBh—4 5 IR AHETPRIONSITHS O 1% 1, 140, 000 1, 340, 000 17.5
FHDOHN3—8—11]
3 |&aHEf—3 5 IR A ET PR ERE2THL 20 8% 720, 000 835, 000 16.0
[ERiEE2—12—9]
4 |EwE—11 IR WETTORHEIT%ZE 1 4 1% 3 103, 000 117, 000 13. 6
5 [ —28 5 IR HIFTTORHEIT#A 1 2 2% 1 142, 000 161, 000 13.4
CRYEAR I EREZ 8 5 HIX 5)
6 |%ihEM— 8 5 0 R AHETFEXE3ITH29 1 3% 130, 000 146, 000 12.3
[#3—-29—15]
7 |BEER 14 |FaE A BT K T2 TH 1 8% 2 160, 000 178, 000 11.3
8 |Ewr—27 I WETT AR K 2 8% 3 7 95, 000 105, 000 10.5
9 |Zi—7 5 IR LR THSEART 5 0 3% 3 185, 000 204, 000 10.3
10 |[EE—6 5 0 R YT FOBT P A4S 1 3% 3 4 93, 500 103, 000 10.2
(flif%s - M, o, E#=E %)
o5 5] ea e H
JIERE | #2 % % 5 | ERE TR = YE H o pr (& Hb 2 FNAAEN 7R AR BFISFELA M | BB
M,/ n M i %
1 [EEE—1 AeviEE bR BT 1 TH 1 0% 3 46, 000 59, 800 30. 0)
2 |[dbRE—4 AeviEE IBAETER3ITHAES 47, 000 60, 800 29.4
3 [HdbRE—6 AeviEE EEHEREE2TH20%5 29, 800 38, 500 29. 2
4 [HbaE—14 i bIEEidbERT 3 TH 3% 4 53, 800 69, 500 29. 2
5 [yrRl— 2 i TR AET 1 3381 4 8, 600 11,100 29.1
6 |ithHl—3 i TLRITT B RAT 8 3% 6 46, 500 60, 000 29. 0|
6 |HEpE—9 i EETEAR6 THL 1E&4 24, 800 32, 000 29. 0|
8 [HEE—10 AeviEE EETEMAERT1I THL 9%4 20, 000 25, 800 29. 0|
9 |[dbIEE—9 AeviEE LR ETEMRT2 THS &7 28, 300 36, 500 29.0
10 [ychl—1 i Ialhim sy E2 2% 10 33, 000 42, 500 28.8
(ﬁ)f IHERFR
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